
線形代数（再履修） — 行列の演算 解答 （2010 年度後期 担当：佐藤）

問題 2.1. 　

(1) A + B は計算できい．AB =

(
−1 1

0 −4

)
, BA =


−7 2 −2

−6 0 −2

9 −6 2


(2) A + B =

(
−1 3

7 4

)
, AB =

(
4 3

1 7

)
, BA =

(
2 −1

7 9

)

(3) A + B は計算できい．AB =


2 −1 1

4 −2 2

6 −3 3

 , BA =
(

6
)

(4) A+B =


1 1 2

1 3 7

5 0 −1

 , AB =


−1 3 10

10 2 7

−6 −2 4

 BA =


6 −1 −9

9 4 −3

5 6 −5


問題 2.2. 　

(1) tA =


1 3 2

−2 7 −5

0 −1 1

 (2) tA =
(

1 −2 1
)

(3) tA =


2 0

−3 −1

1 2

 (4) tA = A =


2 −3 2

−3 −1 2

2 2 1


問題 2.3. 　

(1) A−1 = 1
2

(
−4 2

3 −1

)
(2) A−1 =

(
2 −1

5 −3

)
(3) A−1 は存在しない．
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